Homework #2 solution
2. a) No 
    b) No 
    c) Yes, False 

    d) No 
    e) Yes 
    f) No
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24. 
a) converse: If I stay at home, then it will snow tonight.

    contra positive: If I do not stay at home, then it will not snow tonight.
     inverse: If it does not snow tonight, then I will not stay at home.

 b)  converse: If I go to the beach, then it is a sunny summer day.
       contra positive: If I do not go to the beach, then it is not a sunny summer day.
       inverse: If it is not a sunny summer day, then I do not go to the beach.

c) converse: If it is necessary that I sleep until noon, then I stay up late. 
 contra positive: If it is not necessary that I sleep until noon, then I do not stay up late.
inverse: If I do not stay up late, then it is not necessary that I sleep until noon.
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